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QUESTION 1

Which E3 alarm indicates that there could be an issue with the transmit signal with the local equipment? 

A. rxLoS 

B. rxLoF 

C. rxRAI 

D. txRAI 

E. txLoF 

F. txLoS 

Correct Answer: C 

 

QUESTION 2

Having the above BGP peerings, select the two configurations for rtrB that will fulfill the following criteria: -Will advertise
all routes from rtrA to rtrD but not to rtrC -Will advertise the routes from rtrD to rtrC 

A. router bgp 2 neighbor 1.1.1.1 remote-as 1 neighbor 1.1.1.1 route-map rtrA in ! route-map rtrA permit 10 set
community no-advertise ! 
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B. router bgp 2 neighbor 1.1.1.1 remote-as 1 neighbor 1.1.1.1 route-map rtrA in ! route-map rtrA permit 10 set
community no-export ! 

C. router bgp 2 neighbor 1.1.1.1 remote-as 1 neighbor 1.1.1.1 route-map rtrA in neighbor 3.3.3.3 remote-as 3 neighbor
3.3.3.3 route-map rtrC out ! route-map rtrA permit 10 set community 5 ! route-map rtrC permit 10 match community 5 ! 

D. router bgp 2 neighbor 1.1.1.1 remote-as 1 neighbor 1.1.1.1 route-map rtrA in neighbor 3.3.3.3 remote-as 3 neighbor
3.3.3.3 route-map rtrC out ! route-map rtrA permit 10 set community 5 ! route-map rtrC permit 10 match community 5 !
route-map rtrC permit 20 ! 

Correct Answer: BD 

 

 

QUESTION 3

SONET\\'s three layers arE. (Choose three.) 

A. DS1 

B. Frame 

C. Path 

D. Line 

E. Section 

Correct Answer: CDE 

SONET Layers SONET divides the overhead and transport functions into three layers: Section Line 

Path 

These three layers are associated with both the physical equipment that segments the network and the bytes of
information that flows through the network elements. 

 

QUESTION 4

Which two implementations are standard Virtual Private LAN Service (VPLS) implementations that are supported by the
IETF? (Choose two) 

A. VPLS uses LDP for signaling. 

B. VPLS uses BGP for autodiscovery and signaling. 

C. VPLS uses extended IS-IS for signaling 

D. VPLS uses OSPF version 3 for auto discovery and signaling 

E. VPLS uses spanning tree for signaling 

Correct Answer: AB 
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QUESTION 5

What is the proper MP-BGP configuration between the shown PE routers to implement MPLS VPNs on PER2? 

A. None of the above 

B. router bgp 1 neighbor 50.0.0.4 remote-as 1 neighbor 50.0.0.4 update-source Loopback0 no auto-summary ! address-
family ipv4 neighbor 50.0.0.4 activate neighbor 50.0.0.4 send-community extended exit-address-family 

C. router bgp 1 neighbor 50.0.0.4 remote-as 1 neighbor 50.0.0.4 update-source Loopback0 no auto-summary ! address-
family vpnv4 neighbor 50.0.0.4 activate neighbor 50.0.0.4 send-community extended exit-address-family 

D. router bgp 1 neighbor 50.0.0.4 remote-as 1 neighbor 50.0.0.4 update-source Loopback0 no auto-summary ! address-
family vpnv4 unicast multicast neighbor 50.0.0.4 activate neighbor 50.0.0.4 send-community extended exit-address-
family 

Correct Answer: C 
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